<

CAMO2ZZI

Automation

Bl
®
Kk

N

L

i 2

RL & 7414

SEHPATITA > RLRIIFFHERE

RL R I AR E

FREGARE > 11.0

AT 2% R~TFF4E 1S0 15552 F11S0 6432 #rAER S 6L
EREREIEIR 20, 25, 32, 40,50, 63,80,100, 125 mm

RLRIIFTHRRBER 2 H A AR
ELNETEHENBRE, HHERERE
BEFSSN, AETRIE BREERE
SE, CEEFRRTT. FHEKEREAT
SEFBZSFBUESHIRREVINEN, &
KREERHEAERL.

RLEFIEF O MARMMNE, EAT
ZERTIHAISO6432FRAF1Z A 2040
25 9 SELFNFF A ISO 15552 FR A RIFL 12
32 & 125 ML,

BIWRA 1/9.10.02 TR ERE A
MO ERE, BDAEBHR: FHEXE
RAEESEFLEEHE, TREDSHE
ST HFEE,

> EELigit
» FoEW [ §5 5%
> H R

SEsH
2R By il
TIEAR SEEEIRF) L
et HE. PEREMAEES. PIEL. #AE THEERERESHEF
ERR 20, 25, 32, 40, 50, 63, 80, 100, 125
TERE 0+80°C (FHg=54-20°C)
TIEEAD 3+ 8bar
#0 £11220, 25, 32 H M5
#1240, 50, 63, 80, 100, 125 G1/8
R ERER, ARER. WERAREEE. NARMANERHREER (BIUER ISOV632 5E@iEH)
1N1001 AN THREB X = SBGEONF, WHEE, BARTEM

299

A RAT IS, FikEdETLuEES
BAFRMEERFTERLATMNEER



P REARA > 11.0
RLZFIFFHMARERS

RLC = 41

<

SFHPUTILI > RLRTIFHERE CAEIOZ2!

Automation

32

RL #351
RLC=#RAE R (S{ELTYIEA S )
RLB = {R g%k

41 ERTSEHRTI

24 =150 6432 FRAESEL (BD 24-25 R31)

HEEERS
RDLK

41 = S0 15552 #RoESEL (BD 60-61 R7F)

32 ERATFSEIMELE
20=20mm

25-25mm B

32=32mm

40 =40 mm X

50=50mm S—r

63=63mm w

80=80mm B

100=100 mm =

1/

N

pu—

x

125=125mm

RDLK

BESHRERE

w
>
~
o

VH
i
:
=3
=
]
o
%E
.

A

;VVV

CAAAL

v AL
AML
Y
AL
Wy

ANFREX - RBHENF], MEEE, BRBTEHN 1/9.10.02
FAEE@BTILGE, FitEETWREHEE T Znn
BAFRMHEEFHTERANTMEEN 300



¢«

CAMOZZI

Automation

B

H
X

%

A
X

[

)

RL & 54FH

SEHATIT

| FREEFEEFMKT TS HHER

> RLRIIFHIERE

FREERE > 11.0

X

Jﬁ]_
] lw ; i&) l
B = / |
}_ f

[ JEEATIK X (mm) BAXFA IN)

20 +50 300

25 +48 400

32 +40 650

40 +43 1100

50 +57 1600

63 +57 2500

80 +80 4000

100 +80 6300

125 +125 8800

1/9.10.03 FATREM -SRI, MEEE. BEBTEM
=/7.20.05 B @AF T LAE, ik m T VRS

301

BAFRMEERFTERLATMNEER



FREERA > 11.0

LTSS

18 M EL{E 20 f0 25

SEHITT

4> RLRIIFHIERE

L1 D1
(L3) L2
M I
— - F [ 7o)
o & ﬂm — ( 2
i R 1 T N~ | B SN 2
o A T | P g % \ s
= C iy = )
U
L4
M5
L5
N ES
filh= iz D A D1 H L L1 L2 L3 L4 L5 L6
RLC-24-20 20 8 20 38 21 40 58 35 23 12 24 40
RLC-24-25 25 10 20 38 21 40 58 35 23 12 24 40
-
LTS5
EREIFE 32 E 125
L1 5
L
(L3) (L2)
Az0.15
LS L4
o ';
1 qul O S 1
- N 2 ! 2 o *
S| - - = - o ¢S =y
) A < S,
=S e o3 !
L
=
S
L6 ‘
M
L7
\ H1
Rst®
S fAKES D D1 D2 D3 G L1 L2 L3 L4 L5 L6 L7 L8 A M H H1 z
RLC-41-32 32 12 30.5 35 25 M5 58 48 10 8 13 20.5 34 45 32.5 M6 25.5 46.5 M6X20
RLC-41-40 40 16 35 40 28 Gl/8 65 55 10 8 13 22.5 38 50 38 M6 30 53 M6X20
RLC-41-50 50 20 40 50 35 Gl1/8 82 70 12 15 16 29.5 48 60 46.5 M8 36 64 M8X30
RLC-41-63 63 20 45 60 38 Gl1/8 82 70 12 15 16 29.5 49.5 70 56.5 M8 40 75 M8X30
RLC-41-80 80 25 45 80 48 G1/8 110 90 20 18 20 35 61 90 72 M10 50 95 M10X35
RLC-41-100 100 25 55 100 58 G1/8 115 100 15 18 20 39 69 105 89 M10 58 110.5 M10X35
RLC-41-125 125 32 60 130 65 G1/8 167 122 45 22 30 51 86.5 140 110 M12 80 150 M12X40
AATREH = RBEOF, WEEE, RABTEN 1NJOD4

FAEE@BTILGE, FitEETWREHEE

BAFRMHEEFHTERANTMEEN

302

<

CAMOZZI

Automation

Bl

.H
X

%

e
QAL

L

,

RL R 5415





